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0.UPS HHElel 400,000& x12& 4,800
206 TH 2 H 7,800 7,800 0
01 X2 bl 7,800 7,800 0
ONSINREE 5,000& *4Z *100JH 2,000
OUE</IAaARSE 5,800
0.AH0l= 100,000& x 158 A 1,500
0.H4EH 50,000 2F +75 A 700
0.4e2/& 100,000& * 18+ A 100
0.2 ¢ 5,000& *3Z *100JH 1,500
0. ANRNEZEHE 200, 000& =104 2,000
405 XHAHE SH 198,391 44,050
01 AL =2 EF SHI 198,391 44,050
OHAEH P2 300, 000& *5CH 1,500
OHIIBESAIE 2= 3,800, 000& *20CH 76,000
ORFEMJAEX LA 30,891,000 =1 CH 30,891
OLES4aI&EH A 90,000,000& =1 CH 90,000
PARS:R=lg=2) 190,167 449,374
201 Yet2 | 57.216 49,374




EXN: JIE2AA
Mz MY J|etEt =
el HESM E#Os (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
02 2324 57,216 49,374 7,842
O2322 % HA 45,816
0.2t & CCTV 23162
150,000 * 170 A+ 12& 30,600
0.2 & CCTV MJ12 18,500 #2801 A~ «12&! 6,216
0.0{&l 0] CCTV FTTH 22
30,000 250 A~ «12& 9,000
OINE=F=3:[E=PNE:] 11,400
0.24¥ & CCTV SAIE 4t 950,000 x12& 11,400
401 AlEHIZL 2 0HY| 132,951 400,000 A 267,049
01 Al&H| 132,000 397,120 A 265,120
OXtgety cCTvV & X 37,000,000 304 A 111,000
oarsery cCtv & Xl 7,000,000 3 & 21,000
03 Al&E 201 Y| 951 2,880 AN 1,929
Oere cCTV & Xl 132,000,000 *0.72% 951
X A BERHACCTVA X K & A 65,000 0 65,000
= 19,500
= 45,500
401 AlEHIZL £ 0HY| 65,000 0 65,000
< 19,500
= 45,500
01 Al&H| 65,000 0 65,000
OL==CCTV 20l 2H X & A S 65,000,000& 65,000
== 19,500
= 45,500
XNEHE S 222,951 208, 153 14,798
= 5,280
o 9,218
= 208,453
COANBSNE 16,000 16,000 0
= 2,000
= 14,000
201 et | 16,000 16,000 0
= 2,000
= 14,000
01 AP 2t 2| bl 16,000 16,000 0
O ABFIN=ESFH| 16,000,000& 16,000
= 2,000
= 14,000
EHOIXN2YE 152,760 141,792 10,968
201 Bt 152,760 141,792 10,968
02 =224 | 152,760 141,792 10,968
OZ2Z222 ¥ HMA 13,800




AN JIEZ AL
M HEs luss
Sl XN 25 (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
0.5MS AtB = 120,000 128 1,440
0.8z & OICIHEE &EJI=z
1,030,000& x12& 12,360
OA&EHl s Xl 138,960
0.Z20H0IX SERANES
6,700,000 122 80,400
0. 2230t EHOIX 370,000& »12& 4,440
0.0l |Xidl 1,080
o2& 0el 76,000 9K 684
od=2&0el 33,000 =124 396
0.2ZHOIXI AH 1,980,000& =122 23,760
0.8 & 1,840,000& x12& 22,080
0.0ICIHEE 200,000 «3CH =12 7,200
2808 243t 30,000 30,000
< 3,000
fia 27,000
202 04l 1,000 1,000
01 SLHOYI 1,000 1,000
OXEXHS E4(5L,5) 1,000,000 1,000
307 glztol & 29,000 29,000
= 3,000
[ia 26,000
02 P AEXS 14,000 14,000
O&Esios 29&4ds N& 14,000,000& 14,000
=) 3,000
= 11,000
04 QIZtHAIE X = 15,000 15,000
OZES0IE sEMESH FA 15,000,000 156,000
ZTzOgA s8N H 13,716 13,716
= 5,280
=) 4,218
a 4,218
307 glztol & 13,716 13,716
= 5,280
S 4,218
i 4,218
02 P AEXRS 13,716 13,716
O&E=sosg:e 2xX& 13,716,000& 13,716
= 5,280
=) 4,218
s 4,218
dEstu=S 10,475 6,645
201 L Er2 A | 5,770 5,170
01 Ab2 22l bl 5,770 5,170
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B 2FALA
M HEs luss
Sl XN 25 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Ogbt=2t| 4,650
0.200HBSNE EF S48
50,000& * 130 & 650
0.8Estn= W 15,000 x200& 3,000
0.8325sddAUS AlAS
100,000& 10 1,000
oggs+y4 1,120
0. X922 sXEs &Y
0,000& *821 23| 1,120
202 044l 1,775 875 900
01 2LHOHI 1,775 875 900
OXNYAEEIARE HINEAL, &)
300,000 *53] 1,500
OXFEgsdBAU &HIHE) 55,000& *5Q1 275
301 LprE a3 2,930 600 2,330
09 HAIAHIBAZ 2,930 600 2,330
OXNGEESGENE2AS WE
50,0003 x401 %3 600
OFYAHYAHEADLHAIE(Z) 55,0002 62! 330
OITESAMES(EAH) 20,0003 2001 x5 2,000
D™ F& 178,093 115,916 62,177
D S=23t 178,093 115,916 62,177
XI2I &30 01 2 3+ & Xl At e 135,513 95, 166 40,347
101 @121l 13,536 14,626 A 1,090
04 JIZtHIZ22XNSE S 13,536 14,626 A 1,090
(ORPIR=3=| 41,6803 101 %249L! 10,379
O Fx=x=< 41,6803 121 x50 2,084
O ZoUALEESZ 12,462 ,320& *2.995% 374
O &JxEg= 373,246& x3.275% 13
O NgE8Es 12,462,320& *1.5% 187
O KMMEE = 12,462,320 x4 . 0% 499
201 Yet2 | 40,540 40,540 0
01 At 22l bl 25,540 25,540 0
OMEIAOISI EE2S M 4,000
0 cl=sa 1,000& x4 ,0000H 4,000
Ot OIS 8= HZ 16,540
0o 1,300, 000& *3H A~ *x33] 11,700
0=d 110,000 11 2 *33] 3,630
048 55,000& *11JH A~ *23] 1,210
OAtEAIOIEI EHS| ppt M
5,000, 0003 *14] 5,000
03 &AL EH| 15,000 15,000 0




S HSIEEIPN
Ha: DHHEE =X

=
- .
Hel: DicHAE 83

* (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXIel &t 0l EI EEH AL 15,000, 000& 15,000
207 A RO 51,437 0 51,437
01 A7 39l 51,437 0 51,437
OstdZa™I A (A=)
51,437,000& 14! 51,437
301 e A= 10,000 10,000 0
09 HALAHIZB &S 10,000 10,000 0
O&EIANOI S A FTAB 4
5,000& *2,000¢! 10,000
401 AIEHI L 2 CHYI 20,000 30,000 A 10,000
01 A& HI 20,000 30,000 A 10,000
O&tFIAOIEIL EE2= &EX 10,000,000 24! 20,000
OleHds 24 14,180 15,350 A1,170
201 Let24d] 980 1,470 A 490
01 At 22/l 980 1,470 A 490
OS2I (DIHE LR FX) 7,000 201 +70 980
202 O4dl 10,200 11,880 A 1,680
01 = LH 4 1l 10,200 11,880 A 1,680
OJI2g =0t 4,800
0.0lcHEe DI2d R0l
200,000 2021 «12& 4,800
OMOISEI MSFA J2E
150, 000& »321«12& 5,400
203 YR =2t 3,000 2,000 1,000
03 Al =Y R =& 3,000 2,000 1,000
O30S A=A 3,000,000 3,000
OlcH &= At 28,400 5,400 23,000
201 €2l 8,400 5,400 3,000
01 At 22l 6,400 3,400 3,000
O0IHEAY E22 ME 2,000,000 2,000
=MEIARAS BALGY 70,0008 #1021 «23] 1,400
OO0IcHE ALY ppt M & 1,500,000& »23| 3,000
03 & Ar2 Z I 2,000 2,000 0
OO0IcHE =AY S ==Atddl BIXI0H2Y XI&
2,000,000& 2,000
207 O] 20,000 0 20,000
01 289 20,000 0 20,000
ODIcH M ALY AR ESAH 20,000,000 * 14! 20,000




